Sciences / Personal Computer)

1
(Frequency) (Percentage)
2
5
4
(X)
3
5
F-test
4

F-test

SPSS/PC+ (Statistical Package for



S
MS
df

450
3.50
2.50
1.50

- 5.00
- 449
- 349
- 249
1.00 -

1.49

t—fest F-test

(Mean)

(Standard Diviation)
(t - distribution)
(F- distribution)

( ofSquare)
(Mean Square)

(degree of freedom)
05

1



1.00 -
- 2.50
- 3.50
- 4.50
- 5.00

151
2.51
351
4,51

1.50

— D W B ol

18



11
12

21 15-17
22 18-20
2.3 21 -23
24 24-25

3.1
3.2
3.3
34
3.5

41 1

42 1-3
43 4-6

®
[
€

240
160
400

167
108
43
62
400

19
120
128
55
18
400

101
222
50
21
400

60.0
40.0
100.0

41.8
21.0
108
20.5
100.0

48
30.0
32.0
138
195
100.0

25.3
55.5
125
6.8
100.0

19



5.1 5,000
5.2 5,001 - 10,000
5.3 10,001 -20,000
5.4 20,001

11
1.2
1.3
14
15

60.0 160

42
129
9%
133
400

109
9%
14
83
40
400

40.0

105
32.3
240
33.33
100.0

21.3
23.5
185
208
100
100.0

240

80



15-17
18- 20
24 -2%5 82
43 108
32.0
30.0
55.5
25.3
125
6.8
20,001
5,001 - 10,000
10,001 - 20,000 %
5,000 42
109 21.3
23.5 83
14

10.0

108
20.5

55
19

129

167

133

105

20.8

18

48

24.0

21.0

138

50

27

il

418

21-23

128
120
195

222

101

33.3

323

40

94



2
5

1

2

3

4

5

(X = 3.05)

5-25

(X = 2.89)

(X = 261)

261
3.05
2.93
2.99
281
2.88

N =400

SD.
83
46
15
A
99
63

(X = 2.99)

82



10,

11.

2.79

2.74

2.18

2.64
2.65

2.62

2.67

2.12

2.32

2.56

2.58

N =109

SD.

11

1.00

1.07

1.09
1.08

1.03

1.16

1.00

1.06

114

1.09

83



84

6( )
N = 109

X

1,
235 119

13
2,64 113

14,
281 116

15
2,60 120
263 8

b
(X = 263) 2
(X = 232)
(X = 2.35) (X = 256

2.81)



10.

11

X)

3.29

3.20

3.37

2.97

3.17

3.24

3.16

3.16

2.88

2.87

2.99

.93

.85

97

.73
.82

91

91

o1

a1

1.04

85



86

7 ()
N N=94
X S.D.
12.
| 2.74 1.06
13.
2.99 1.10
14.
3.22 121
15.
2.98 1.09
3.08 63
I
(X = 3.08)
(X =337)
(X = 3.29)
! | (X =

2.74)



10.

11.

3.22

314

311

2.97
312

3.15

2.96

3.00

2.66

2.18

2.85

87

90

82

92

89
88

97

1.03

95

101

98

1.04



12,

13

14

15

(X = 2.93)

(X =266 - 3.22)

2.42

261

2.99

2.80
2.93

N =74

1.07

99

1.00

96
63

(x = 242)



10.

11.

X)

(S.D.)

3.08

3.12

2.86

2.88
2.84

311

2.87

2.63

2.49

2.89

2.90

83

68

69

05

14
19

96

81

13

16

18

92

89



9( )
12.
13,
14,
15.
(X = 2.89)

(x =2.54-3.12)

2.54

3.02

3.10

3.04
2.89

(X = 2.49)

%0

83

SD.

36

1.00

92

94



10.

11.

10

310

2.10

318

2.85
2.95

3.08

3.03

310

2.68

2.18

2.90

93

82

93

95
88

13

.86

14

1.14

1.03

93

o



12,

13

14,

15.

10 ¢ )

2.65
2.85
2.95

2.60
2.89

10

x = 289)

, x = 3.10)

SD.

117

98

101

1.06
96

x =3.18)

x = 3.10)
x = 2.60)

92



10,

il

2.63

2.67

2.48

2.51

2.43

2.91

2.53

2.63

2.58

2.38

N =109

SD.

1.09

98

1.02

1.05

1.07

115

1.06

111

113

1.07

9



11.

12

13,

14,

15.

16.

241

243

2.56

261

2.60

2.64
2.54

(X = 254)

(X = 2.64)
(X=2.39)

N =109

1.06

1.09

1.10

1.07

1.16

1.19

il

(X = 267)



10.

12

3.12

3.15

301

2.81

2.95

290

2.88

2.85

291

2.76

93

89

89

.86

92

89

9

1.08

1.05

1.04

9%



11.

12.

13.

14,

15,

16.

9%

()
X SD.
283 7
200 11
281 106
28 113
| 272 109
266 11
288 6
12
x = 289)
x = 3.15)

x =31

(x = 2.66)



10.

13

3.00

3.04

3.15

3.00

2.86

281

2.82

261

2.10

2.59

1.02

1.03

1.08

96

1.02

1.00

101

98

1.02

101

97



13(¢ )

11.

12,

13.

14,

15.

16.

x = 2.83)

x = 3.04)
x = 2.59)

13

N =74
X SD.
21 %
265 85
280 89
278 %
205 M
281 %
283 70
x = 315)

98



10.

14

3.05

3.10

3.00

3.04

2.89

3.12

2.18

2.86

2.11

2.84

15

16

86

83

83

96

87

99

87

97

99



11.

12

13.

14,

15,

16.

14 )

x = 29)

x = 2.17)

14

x = 3.12)

100

N =83
X

289 88
288 %
304 104
203 &7
27T
20 @
292 5
x = 3.10)



10.

15

3.05

2.95

2.85

2.68

2.13

2.68

2.68

3.03

2.10

2.65

115

88

89

92

101

114

1.10

1.25

1.04

1.05

101



11.

12,

13

14

15.

16.

15 ()

(X = 2.76)

(X = 255)

15

(X = 3.05)

2.58

2.55

2.93

2.83

2.13

2.55
2.76

N=40

1.06

93

1.02

98

1.04

1.06
69

102



10.

16

S.D)
N = 109

X SD.
2.62 118
2.3 127
2.96 114
2.83 124
2.63 124
2.89 123
2.84 1.25
2.90 1.30
2.86 118
2.86 115

103



11.

12,

13,

14,

15.

16.

17.

18,

16( )

16

x = 28)

x = 296)

2.83

3.07

2.95

2.83

2.12

2.89

2.82

2.80
2.82

X = 307)

(x = 2.53)

N =109

1.30

1.18

1.26

117

123

128

1.16

1.24
99

104



10

17

105

(S.D)
N=094
?

X i
3.1 93
3.68 1.10
3.83 96
387 4
3.66 1.03
311 98
3.78 1.02
394 1.02
3.12 1.00

3.63 1.04



11.

12.

13.

14,

15.

16.

17.

18.

17 ()

x = 3.70)

17

(X = 394)

x = 3.87)

3.59

3.60

3.63

3.59

3.56

317

3.12

3.59
3.70

1.02

98

97

1.00

97

87

1.04

1.08
1

106

(X = 3.56)



10.

18

3.24

3.0

3.55

3.46

3.28

3.21

319

3.45

3.46

3.32

1.16

1.32

97

1.12

112

11

1.24

111

98

99

107



11.

12

13.

14,

15.

16.

17.

18.

18 ( )

x = 333)

o = 361)

18

x = 355)

N =

324

361

3.38

345

3.22

3.38

3.20

3.24
3.33

o = 3.09- 3.46)

14

SD.

1.02

1.06

1.09

1.04

1.05

1.06

1.03

L17
80

*!

108



10.

19

3.25

312

3.46

3.65

3.17

348

341

3.59

3.60

351

97

1.09

1.02

1.04

1.10

1.02

91

90

92

85

109



1 ()

11.
12
13
14,
15.
16.
17.

18.

x = 3.39)
x = 3.65)

3.12-3.49)

19

3.20

3.54

340

3.33

3.25

3.49

3.37

3.28
3.39

: 83

81

90

95

93

85

95

85

1.05
68

110

(X



10,

20

2.93

2.85

3.33

312

2.70

3.15

2.93

3.00

310

3.05

1.27

1.23

1.16

1.09

1.14

95

1.19

115

113

1.06



11.

12.

13.

14,

15.

16.

17.

18.

20 ( )

3.00

3.30

318

341

2.95

3.13

2.83

2.35
3.03

20

x = 303)

x =3.33)
(x = 2.55)

112

SD.

115

9

111

1.20

118

Y

98

111
15

x = 347)



21

2.67

2.60

2.52

2.65

261

241

2.67

251

2.65

N =109

SD.

1.06

111

102

1.04

112

111

111

1.07

1.08

113



10.

11.

12

13,

14,

21 ()

Al

(X = 258)

x = 251 - 267)

N = 109
X
25 104
251 112
25 110
253 110
260 118
258 88
x = 247)

114



22

2.72

2.50

2.64

2.54

2.52

2.47

2.47

2.62

2.65

111

.98

1.09

112

1.04

1.12

1.04

1.07

1.08



116

2 ()

X
2.65 1.15 -
2.52 1.08
2.64 1.15
2.65 1.06
2.65 1,09
2.59 85
22
(X = 2.59)
(X = 2.47)

(X = 2.47)

(x =2.50-2.72)



23

117

(S.D.)
N = 74
2
X
2.82 76
2.73 80
2.65 1.04
2.85 1.07
2.66 98
2.49 1.10
2.78 1.01
2.72 1.03

2.72 1.05



23 ()

10.

11.

12.

13.

14.

23

(X = 2.73)

(X = 2.62 - 2.89)

2.62

2.62

2.84

2.86

2.89

2.73

(X

S.D.

1.09

1.07

1.03

1.01

.90

74

2.49)

118



24

(S.D.)

2.95

2.77

2.83

2.80

2.84

2.53

3.01

2.93

3.07

75

.72

.78

.79

.79

.85

1.04

.93

101

119



10.

11.

12.

13.

14.

24()

2.78

271

2.78

2.84

3.00

2.85

24

(X = 2.85)

(X = 3.07)

(X = 3.01)

(X=253)

g7

.82

.83

.92

1.01

.58

120



% X (..

3.10

2.90

2.80

2.95

2.83

2.65

2.88

2.97

3.15

121

1.06

1.10

.82

.88

1.08

.92

114

1.00

1.17



10.

11.

12.

13.

14,

25 ()

25

(X = 2.96)

(X = 3.18)

, (X = 3.15)

(X = 3.15)

(X = 2.65)

2.93

2.95

315

3.05

318
2.96

1.16

1.08

1.14

1.06

1.06
1

122



3.08)

% X)

26

(x = 2.63)

2.63
3.08
2.93
2.89
2.89
2.87

N =400

SD.
8
63
63

96
.68

x = 293)

123

x = 2.87)

(X



21 (X)

27

(X = 2.54)

2.54

2.88

2.83

2.92

2.76

2.78

N =400

SD.

91
.67
.70
Sl
.69

74

(X = 2.88)

124

(X = 2.78)

(X = 2.92)



2 X

28

x = 28))

(S.D.)
N =400
X SD.
282 99
3.70 J1
3.33 80
3.39 68
3.03 15
3.26 87
x - 3.39)

125

(x = 3.26)
x = 3.70)



29

29

(X = 2.58)

N = 400

2.58
2.59
2.73
2.85
2.96

2.70

(X = 2.85)

.88

.85

74

.58

71

.78

126

(X = 2.70)

(X = 2.96)



121

30 (X) ()
N =400
X SD.
1. 261 83
2. 3.05 46
3 2.93 1
4 2.99 4
B, 287 59
2.88 63
30
(x = 2.88)
(x = 3.05) (x = 2.99)

x = 261)



*< .05

31

128

of S MS F

4 11656 2914  7.950*
305 144791 367
399 156.447

3
05
(Scheffe’s)



*p<05

32

2.631
3.083
2931
2.891

2.891

32

32 -3

2.631 3.083 2931

-.452* -.300

152

2.891

-.260

192

.040

05

129

2.891

-.260
192

.040

05



*0<.05

05

33

2.543
2.882
2.834
2.925
2.764

33

2.543

2.882 2.834
-3¢ =291
-4.785

2925  2.764
-3¢ 21
-4.313 118
091 7.040
161

05



*0<,05

2.825
3.700
3.335
3.3%
3.030

34

2.825

3.700

- 875

05

3.335

-010*

365

3.3%

-969*
306
059

131

3.030

-2.05
670*
305
364

05



132

3
*
2.580 2589 2734 2847 2962
2.580 . 009 154 -266  -381
2.589 , - 145 =258 -373
2.734 \ , 112 -228
2.847 - : - - 115
2.962
*0>.05
35

05



*0 <.05

36

05

2.615
3.052
2.933
2.989
2.810

36

2.615

3.052
-A37*

2.933
-318*
119

2.989

-313*

063
056

133

2.810
-.294
182
063
119

05



I NI NS

3029)
284))

31

37

2.452
3.029
2.882
2.918
2.842
2.863

37

(X = 2918)
(X = 2450)

636
430
612
206
682
97

(X=

2.102
3.142
3.134
3.068
2910
2.904

2863)

(X =288)

8%
387
37
241
A1
669

134

-1511

-942

-1.535
-1677

-396
-652

=



3142)
2910)

(X = 3134
(X = 270)

(X = 2904

(X = 306)

135



136

38
15- 17 18- 20 21-23 24- 25
X . X . X . X .
1 2369 640 2479 769 2970 848 2841 947
2. 3049 397 3168 427 3095 157 2769 834
3. 2808 585 3203 426 2986 .300 2830 .665
4, 2921 415 3098 415 3036 165 2966 483
b. 2865 681 3.023 591 2727 600 2992 472
2851 549 2928 640 2910 593 2859 .764
3
4 B-1,B-0,2A-B8  U-5
5 - 17
(X = 2850)
X =
304)  (X=292) (X = 2865) (X = 2809
(X = 2369)
18 - 20
(X=2928)
(X = 3203)
(X=3168)  (X= 3099 (X = 3029) (X =

2479)



3.0%)
(X = 2727)

2992)
(X = 2769)

(X = 303%)

(X = 2.966)

2N - %
(X = 2910)
(X = 2986) (X = 2970)
% - %
(X = 2859)
(X = 2841) (X = 2830),

137



*p<05

39

138

df SS MS F
3 5676 1892  2917*
16 66102 649

108 777 |

3 1037 346 1642
0 18940 210

@ 1997 |

3 20299 676 2166
0 21865 312

B 2385 -

3 sS4l 105
9 1319 67

& 1376 -

3 ol 180 523
1287 38

39 13438

3 Ay 1N 30
3% 155999 394
399 156447

39

05



40

15- 17 18-20

2.369 2419

- 15- 17 2.369 -0.110
- 18-20 2419
-21-23 2970
- 24-25 2.841

*P> .05
40
H-17 ,18-0 ,24-23
5

15-17 24-25  15-17
05

05

139

21-23 24 - 25
2970 2.841
-0.601* 0472
-0.491 -0.362

-0.129
24- 25
A-23



41

3.010 .280
3.090 .343

2.858

a &~ b D p

3.065 .322

41

(X = 3.000)

(X = 3.043)
2.933) (X = 2500)

X X
2500 .790 2571
3.001 445 3.189
3.010 .270 2.818
3.043 361 2970
2933 672 2.937
2944 514 2.865

(X)
)
1
(X = 3.010)
1
(X = 3010)

.830

A17

.674

457

480

.649

140

2.603 .775 2.674 912
3.074 228 2.784 1.021
3.044 502 3.010 .681
3.033 444 2.863 .885
2.400 .710 2940 .512

2.819 .646 2.803 .745

(X = 3.065)

(X= 2859)

(X = 2.944)

(X = 3.001) (X =



141

X =
2.865)
(x = 3.189) (X = 2.970) (X = 2.937)
(x = 2.818) (x= 2.511)
(x = 2.819)
(x = 3.074) (x = 3.044) (x = 3.033) (X
= 2.603) (X = 2.400)
x = 2.803)
x = 3.010) x = 2.940) (x = 2.863) (X

= 2.784) (X = 2674)



42

*P< 05

42

05

df

104
108
4
89
93
4
69
13
3
9
82
3
36
3
4
3%
399

SS
864
12913
13.177
908
19.069
19.977
161
23.133
23.893
310
13.395
13.705
1.262
12.178
13.439
1.841

154.606
156.447

MS

216
101
221
214
190
335
103
170
421
339
460
391

142

308
1.060
.568
.669
1.243

1176



43
X

1 2.350

2. 3.075

3 2.976

4, 2.812

5. 2.679

2.704

23

6

2.704)
x = 2.350)

x = 2813) x = 2679)

x = 2.624)

3.017) x =2831)

1 1-3
X SD.
805 2624 637
543 3.024 438
613 2820 582
518 3.017 356
735 2831 576
722 2878 533
X)
4
x = 3.075)
(x =3.024)

143

4-6 6
X X
3.104 1159 3.014  1.025
3.187 352 2896 834
3118 348 3403 396
3289 142 2.968
2884 612 3.313 004
3115 601 3111 790
(..
1 ,1-3 4-6
x =
(x = 2.976)
1-
x = 2.878)
(x = 2.820) (X =



144

4-6
(X = 3.115)
(X = 3.104) (X = 3.187) (X=3118)  (X=
3.289) (X =2.884)
b
(X = 3111)
(X =3.014) (X = 2.8%) (X=3403)  (X=

2.968) (X =3313)



*p < .05

44

145

Df SS MS F

3 6.901 2300 3612*
105 66876  .637

108 73011 ,

3 406 135 622
90 195713 217

93 19977

3 1983 661 2111
0 21912 313

3 238% -

3 1440 480  3.001%
19 12265 155

82 13705 | -

3 1036 345 1.002
b 13438 345

39 13438 . -

3 1339 2446 6497
3% 149108 377
399 156.447

a4

.05

.05

.05

(Scheffe’s)



45

05

05

2.350
2.624
3.104
3.014

45

2.350

1-3
2.624
0.274

4-6
3.104
-0.754*
-0.480

6

146

3.014

-0.664*
-0.390
-0.090



1 1
I~ —
1 1

S W

*P< 05

46

2.813
3.017
3.289
2.968

46

1 1-3
2.813 3.017

0.204

4-6
3.289
0.476

0.272

6

147

2.968
0.155
0.049
0.321
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2.704
2.879
3.115
3111
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4-6

2.704
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1-3 4.6
2.879 3.115
-174 -411*
-.236
1 ,1-3 ,4-6
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-.004
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8 ,
5,000 5,001-10,000 10,001-20,000 20,001
X D X S.D. X S.D. X
2.361 .906 2.779 .879 2.557 797 2.621 .688
3.104 .302 3.083 424 3.175 447 2.952 523
2.922 .733 2.855 519 2:830 781 3.095 410
2.695 .790 3.039 .495 2.944 .332 3.039 344
2.642 922 2.871 .698 2911 .609 2.908 .332
2.645 814 2.915 .647 2.854 .644 2.937 501
18 (X) (.
4 5000 5,001
10,001 - 20,000 20,001
T 5,000
(X = 2.645)
(X = 3.104) (X = 2.922) (X = 2.695) (X = 2.642)
(X= 2.361)
5,001 - 10,000
(X = 2915)
(X = 3.083) (X = 3.039) (X = 2.871) (X = 2.853)

(X = 2.779)
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, 10,001 - 20,000

(X = 2.854)
(X = 3.175) (X = 2.944) (X = 2.911) (X = 2.830)
(X = 2557)
120,001
(X = 2.937)
(X = 3.095) (X = 3.039) (X = 2.952) (X = 2.908)

(X = 2621
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05

df
3
105
108
3
90
93
3
10
3
3
I
82
3
36
39
3
396
399

Ss
2.344
11.433
13.717
680
19.297
19.977
968
22.921
23.895
615
13.090
13.705
241
13.197
13.430
2.980

153.468
156.447

MS

181
680
221
214

323
328

205
166

080
367

993
388
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1.148
1.0_57
985
1.2_37
219

2.563
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11.
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3.12

2.75
3.05

2.80
2.67

254
2.78

293

2.30

3.00

2.70

248

274

1.07

87

93

, 1.05

121

1.16

97

125

112

1.04
.70

50

152
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(X= 2.54-3.12)

(X = 3.05)
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(X = 2.74)
(X = 3.2)

(X = 2.48)
(X = 2.30)
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